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PHILOSOPHY
PAPER - 1I

A ICEIES]
qyz-II

Note :This paper contains FIFTY (50) multiple-choice/assertioﬂ/reasoning

questions/matching questions. Each question carries TWO (2) marks.

Attempt All the questions.

e vl wewell v (w0) wglaselly usAl, wy-wig A Assi oriadirl ¥l
B, ML Maelldl Ao avididl 8. UAs U & () 9w ],
1. By what type of perception, 1. <yl sciguiz, saUsIa-l Heud HHIR
according to Nyaya, one can gL oget, adust wA cyfausdl sgeia
ive the obj f past, t
percelve the objects of past, presen wsa B
and future ?
. (A) AMHIRAz
(A) Samanyalaksana
1o
(B) Yogaja (B) a1y
(C) Jiianalaksna ©) arasn
(D) S’ravax}a (D) slast
2. In which of the following books 2. ‘'2&42un 2§ oSlouldny’” 2 2
Wittgenstein rejects Moore’s views (852t 2l siMriA-” iz s 526l
as expressed in ‘Refutation of M@ml_qtd: u:s-t [azlrzeldrt it s
EHL 53 89
Idealism’ and ‘A Defense of 3
Commonsense’ ? (A) BariBsa Sawxldla-y
(Philosophical Investigations)
(A) Philosophical Investigations
(B) ¢5224 (Tractatus)
(B) Tractatus . _
(C) ¥+ A2+l (On certainty)
O rtaint N
(€) On certainty (D) Rasu 2l 542 (Remarks on
(D) Remarks on colour colour)
Philosophy-1I [P.T.0.]



3. Monad is defined by Leibnitz : 3. adu[Amnl Mgt HiAsl vl g

-

9?
(A) a material atom

(A) olifds g

(B) a unitary being without parts
(B) #auad IR AuRd ulRda

(C) a form without content

(C) vudl 2usz

(D) an unconscious entity D) 3dd 2R

4. What type of Karana of Jfidna is 4.  ~uy s’ HUcil, st 541 ¥s13q

the self, according to Nyaya ? 519 697

(A) Samavayi (A) ¥yl
(B) Asamanayi (B) »iuxaidl
(C) Nimitta (©) b
(D) Upadana (D) Guietnt

Philosophy-1I 4



5. Match Set 1 with Set Il and 5,

select the code which is correctly

matched :
Set I Set 11
(e) Pragabhiva I Nyaya

(5) Praminabhava (D Mimdrhsa
() Prijfia (M Vaisésika
(@ Praména Sarplava (V) Vadanta
Codes :

(@ B () {(d)
(A) () (I dID av)
(B) I (I AV) dII)
(C) I IDH aIv)

(D) AID(@M dD (IVv)

Philosophy-I1 3

A w10 515 (Code) {l Heedl YA 1

SO | TR EU R R E

e y& n
(@) Wy () -4
(b)) N (I B
(c) Mal (IID) Adlds

(d) Wwa (IV) deid

@ ® © @

(A) (I) (I (IIT) (IV)

(B) ID O (IV) (1D

(C) dIDID avy .

(D) dID (@ dDh dV)

[P.T.O)]



According to éar'xkarﬁcharya, the

status of “Jagat” is :
(A) Sat

(B) Asat

(C) Sadasadvilaksana
(D) Sadasat

Which of the following is not

accepted by Ambedkar ?
(A) Laberty, Equality, Fraternity

(B) Edmation, Organisation,

Agitation
(C) Caste, Varna, Karma
(D) Buddha, Sangha, Dharma
The Upamishads of Samaveda are :
| (A) Mandukya and Mudaka
(B) Aitareya and Taitteriya
(C) Brahadaranyaka and Katha

(D) Chandogya and Kena

Philosophy-1I

6.

7.

sl WA B, 5 WA

(A) Ad &

(B) >ud ¢

(C) wueiue [RQaaw o

(D) ALHUA

134 2 eiil] 240553 Al 15t Al
53dl :

(A) ecltdl, AHAdL, HSALR

(B) (R, A28, yoaa

(C) al, asl, s

D) 4a, 4, @i
AMAeAl Guline su )
(A) Higsu ui- ¥ss

(B) dAdd A adlyd

(C) Csetnys v 58

(D) SIHEPY B 34



10.

Aitareya upanishad belongs to :

(A) Rgveda

- (B) Samaveda

(C) Yajurveda
(D) Atharvaveda

Maharishi Aurobindo termed the
intermediate grade between mind

and supermind as :

{A) mind, overmind, intutive mind,
illumined mind, supermind

(B) mind, higher mind, illumined
mind, intutive mind, overmind,
supermind

(C) mind, overmind, intutive mind,
illumined mind, higher mind,
supermind

(D) mind, intermediate mind,

supermind

Philosophy-II

By GulHNg sul Qe ol 87
(A) 3¢

(B) wmde

(C) uyrde

(D) ¢xudde

el vlde, wds »id YurHid-s-l
Wl wiadl seud § s 67

(A) WSS, »NaHES, S-2yla s,

Seyfiirs uss, Yur Wos

(B) wgs, sluz Hds, deylirs wids,
drieylza s, aiax HSS,

YU HISS

(C) ss, ¥iar wds, Seufea 1ds,
geylrs 1SS, s s,

Jur s

(D) s, d-exdlBdz wds, yur

WSS

(P.T.O.}



11. “The hill is fiery because it processes 11, gafdd afui, - ed-didaz, sul

blue smoke.” The fallacy committed N 29
USRI ScUMHRA )Y

here according to Nyaya is :

(A) -5ty
(A) Anaikantika

) (B) wuaulig
(B) Asrayasiddha

(C) Vyapyatvasiddha (C) aculig

(D) Badhita D) oufad

12. According to Vais?.e_sikas creation 12 JAMsH MU, WL AstEd] it DA

starts with the conjunction of atoms N
Uy e
by :

(A) 9L izl
{A) The svabhava of the atoms

(B) S2q43 wRiae]
(B) The will of God

(C) sngu wgladl

(C) Productive mechanism

(D) Accident (D) syl

Philosophy-IE 8



13.

14.

Pradityasamutpada of Buddhism
closely resembles which theory of

the Upanishads ?

(A) Saksi

(B) Stayibhava

(C) Jagat as Mithya

(D) Vasana

Which of the following Hétvabhasa
is committed in the inference “Fire

is cold, because it is a substance”.

(A) Savyabhichara

(B} Satpratipaksha

(C) Badhita

(D) Viruddha

Philosophy-1l

13.

14,

ollg eadami WAcscue, Guline-l su

Rigiant sag 2ud 87

(A) sl

(B) adleuq

(C) o [Hey

(D) 4l

AR eufldan MR Scutiu-l NsR

v :

(A) uudur

(B) ddxlaua

(C) eulaq

D) [azs

[P.T.0.]



15. Consider the Assertion (A) and

Reason (R) and mark the correct

option :

Assertion (A) : Wittgenstein
propounded use
theory of meaning

in philosophical

" Investigations.
Reason (R) : Meaning are in
mind.
Codes :

(A) (A) and (R) both are true and
(R) is the correct explanation

of (A)

(B) (A) and (R) are both false and

(R) does not explain (A)

(C) (A)is true and (R) is false and

(R) does not explain (A)

(D) (A) is false and (R) is true and

(R) does not explain (A)

Philosophy-1I

10

15. dAsu (A) 21 5138 (R) - 203 didy

[@Qsey WRie $3U :

Ulasu (A) :

5129 (R)

518 ¢

(A)

[Qedlzeifd du-i
““Tsalailssa
S Hi Y
Ll iy H(Horel

ld, 530 .

SRR RO

(A) ¥ (R) 6iL v & 37 (R) (A)

Al varl 2l 8

(B)

(A) 2L (R) 6l Wizl & mA (R) (A)

-l el el sug

(C)

(A) W3 8 v (R) wig & 24 (R)

(A) il vl ¢l 2uug

(D}

(A) i B L (R) WE & A (R)

(A) «l vl 4l siug



16. Consider the Assertion (A) and 15 y[ai (A) 207 5130 (R) i 0ald 4104

Reason (R) and mark the correct . .
f[sew wde sul -

option :
, o uldstl (A) : wefucdl aieiel Wil
Assertion (A) : Arthapatti is an
independent source Hlet ddal W 6.
of knowledge. _ -
s1@ (R) . G B WML gl

Reason (R) : Abhava cannot be .
el ustal ~efl

known through any

other pramanas. 518
Codes : (A) (A) @A (R) s wai s v (R) (A)
(A) (A) and (R) both are true and L el Ul 8

(R) is the correct explanation
(B) (A) 2L (R) i viiel & 1 (R) (A)

of (A)
(B) (A) and (R) are both false and A
(R) does not explain (A) (C) (A) WZ ® 27 (R) Wi B e (R)

{C) (A)is true and (R) is false and (A) -l %ew:l ell g

(R) does not explain (A)
D) (A) W B v (R) WE & 2+ (R)
(D) (A} i1s false and (R) is true and .

(R) does not explain (A) (A) U vl el s

Philosophy—11 11 [P.T.O.]



17 Consider the Assertion (A] and 17. nﬁ-la-u (A) ;,{,-"L &L= (R) "U. ;-’i.lill:\i, Ll-:[;‘l{

Reason (R) and mark the correct . ) .
[asey waie 53 :

option :

_ _ izt (A) - S5 oL WsLx-l [Aui
Assertion (A) : Only two kinds of © A
propositions are wds 6.

ningful
meaningiu (@) Yass3ecns

(a) Analytic pro- O

positions and

(b) [MgicMs (Veri-
(b) Verifiable pro- C erl

Reason (R) : Metaphysical sR@ (R) - dilcas [Qatl gl
propositions are el
not meaningless.
5lS :
Codes :
(A) (A) and (R) both are true and () (A) ¢t (B) ot wt & »it (R)
(R) is the correct explanation (A) -l v 2 6
of (A)

(B) (A) 21 (R) ol w2l & ¥ (R) (A)
(B) (A) and (R) are both false and . . ]
1t a2l wiyg
(R) does not explain (A)
(C) (A) is true and (R) is false and () (M3 3 (R) Mg 6 2t (B)

(D) (A)is false and (R) is true and (D) (A) Wg & 2 (R) W & 2 (R)
(R) does not explain (A) (A) il %ﬁﬁ_ﬁ 2l g

Philosophy-I1 12



18. Consider the Assertion (A) and

Reason (R} and mark the correct

option :

Assertion (A)

Reason (R) :

Codes :

According to
Satkaryavada,

effect exists in the

cause.

Everything cannot
be produced out of

everything.

(A) (A)istrue and (R) is false and

{R) does not explain (A}

(B) (A)is false and (R)is true and

(R) does not explain (A)

(C) (A) and (R) both are true and

(R) correctly explains (A)

(D) (A) and (R) both are false and

does not explain (A)

Philosophy-1L

13

18. MlAsil (A) v 5122 (R) 1L 208l 4oy

fAsey wde s -

wlAast (A) :

stx@ (R)

51

(A)

Acstfatei Hdiduiz,
sid sl xRda
CEICI R

syiqifl oy Geyurt

3l ug nsg.

(A) vy ® 2 (R) i1 © 31 (R)

(A) Al varil el »uug

(A) Wig 8 w1 (R) W3 & 2 (R)

(A) il warll =l »uug

(C)

(A) 211 (R) 6l Wi & ¢+ (R) (A)

R TR TR 2

(D)

(A) Wi 9 i (R) W@ Wi & »inl

(R) (A) L yeudl ol »iiug

[P.T.0.]



19. Consider the Assertion (A) and 19. A (A) 39 51290 (R) <L 200 4oy

Reason (R} and mark the correct _ N
fasey wie s :

option :

ulaat (A) : Aledls  BgALR,
Assertion (A) : According to

- DM W AL
Carvaka, Anumana L

is not a pramana. s1261 (R) - Aftd Big 4l 530

Reason (R} : Vyapti cannot be asidl.

established.
515
Codes :

(A) (A) W & 2 (R) wig & »t1 (R)
{A) (A) is true and (R) is false and

(R) does not explain (A) (A) L el -l suug

(B) (A) and (R) both are true and (B) (A) 3+ (R) 611t 130 8 24 (R) (A)

(R) is the correct explanation A el sl §

of (A)

(C) (A) 2171 (R) 6iml Wizl £ 211 (R) (A)
(C) (A) and (R) both are false and

Al waril 1l g
(R} does not explain (A)

(D} (A)is false and (R) is true and (D) (A) ‘*fl@ & 2+ (R) w3 8 21 (R)

(R) does not explain (A) (A) Al vetat 4l =g

Philosophy-II 14



20.

21.

22.

Leibnitz proves the existence of God
by :

(A) Law of Identify

(B} Law of sufficient reason

(C) Law of excluded middle

(D) Law of contradiction

Which of the following accepts the
view that consciousness is a by-

product of matter ?
(A) Jainism

(B) Buddhism

(C) Nayaya

(D) Charvika

Which of the following is not a kind

of Rna in vedic philosophy ?
(A) Shatru Rna

(B) Pitra I_{pa

(C) Guru Rna

(D)} Dev Rx'1a

Philosophy-1I

15

20.

21.

22.

Ao 20 A Seazd vl Rg 53

£

(A) biscdll [fuy g3l

(B) Y=t staei Huy gl

(C) s5u5455 PMsari [Rum gl
(D) [Azalanl Rum gzl

St Mot Adsll ASdeadl Gy & ¢
(A) % edq

(B) ollg s4d~

(C) ~uy w3l

(D) AwRals

Ales ded Rla-Hi >usigl g s d1?
(A) 2% 2%
(B) fuq wal
(C) 313 =t

(D) 24 %0

[P.T.0.]



23. Who among the following holds the o5 . sl il amore sl R 97

view that Chodana Artho dharmo

Lakshnah ? (A) gulzd
{A) Kumarila (B) Hoiis2

(B) Prabhakara
(C) olrgy M2
(C) Bhaskara Bhattacharya

(D) Laugikshi Bhaskar Dy ciusl s

24. Which of the following is not a proof ~ 24. -l »ulewsidl si wylad wue ol -

for the existence of prakrti ?
i (A) stzasidfasqoud

(A) Karanakaryavibhagat

(B) stzutedidtd
(B) Karanabhavat

(C) elnrt wWlzwsn
(C) Bhedanama Parimanat b "

(D) Samanvayat (D} #Maud

25. Which part (Pada) of yogasutra 95 [haeiol, divppini sar wieHi wid 67
discusses about the concept of kriya
yoga ? (A) (Qoylaus
(A) Vibhitipada (B) sacyue
(B) Kaivalyapada

_ (C) Qiulz
(C) Sadhanapada

 souline
(D) Samadhipada (D) wulawe

Philosophy—H 16



26.

27.

28.

Which of the following is not a
feature of maya, according to

Advaita vedanta ?
(A) Ja(!a

(B) Anadi

(C) Nishprapanch
(D) Adhyasa

Which of the following schools of
Buddhism does not believe in the

reality of the world ?
(A) Vaibhashika

(B) Sautantrika

(C) Hinayana

(D) MaAdhyamika

Which of the following according to

Vaisesika school is imperceptible ?
(A) Anu

(B) Dvyanuika

(C) Tryanuka

(D) None of the above

Philosophy-11

17

26.

217.

28.

wgd deld iz wuidl 5y uad dam

&7
(A} %5
(B =Aauls
(C) [
(D) 20

silgr i sul dy yhedl aralasdil

wllsiz el s2dl?
(A) aculus
(B) Atils
(Cy dlui

(D) wels

Fas 2ot e 2l mgu 9 57
(A) 2%

(B) a4ildst

(C) ~ugs

(D) Buz viNal [aseupudl sisus (s

[P.T.O.]



29.

30.

Shreyas and Preyas imply
(A) Both imply material well-being

(B) Both imply for spiritual well-

being

(C) Shreyas imply for material
well-being and Preyas imply for

spiritual well-being

(D) Preyas imply for material well-
being and Shreyas imply for

spiritual well-being

Which of the following is Aparoksha

knowledge according to Jainism ?
(A) Pratyaksha

(B) Shruta

(C) Awadhi

(D) Mati

Philosophy-II

18

29.

30.

AYY A WU Bed -

(A) olilas seum

(B) 2y sequm

(C) Aud led oitlds sedint v Juy

sled tRulos seqe

(D) Ruy 2d ofilas seuw o Sy

ved »edifces seynl

%t a2 413 el sy s

g
(A) Ml
(B) g
(C) talt

M)



31.

(a)

()]

()

(d)

Match the List I with List II and

select the correct answer by using

the codes given below :

List I
Anitya-paramanuvada
Nitya-paramanu-
karanavada
Prakrti parinamavada

Brahma parinamavada

Codes :

@) b)Y {c)

List 11

(1) Sankhya

(z} Nyaya

vaisheshika

(iii} Ramanuja

{iv) Hinayana

Buddhism

(d)

Ay O Ga)
(B) (i) ()
(C) (i)

(D) (v} G

Philosophy-1I

(v} @D
@ v
(@) Gv)
@

(izi)

19

31.

(a)

(b)

(c}

(d)

12 20l sis-t Guaio s YA T A

YR I il yioy As Aaql HA w=g

AU, UL
EN y 11
[ WYdle (@) vy

e wougsizaale ) -
A

W wRewnae (i) WYY

ol WRRumae (v) [8-um
opf&H
sis :
@ B () (@)
(A) (&) (@) (vy @)
(B) @iy () @) (@v)
(C) Gi) G @) (o)
(DY Guvy Gy @ G
| [P.T.0.]



32.

33.

Which of the following is correct
about Vivekananda's concept of

universal religion ?
(A) Universal religion 18

universally valid

(B) Underlying each religious
tradition there is an universal

religion

(C) Universal religion is moral

religion

(D} Universal religion is present

everywhere

Which of the following is not a cause

according to Aristotle ?
(A) Formal
(B) Material
(C) Efficient

(D) Middle

Philosophy—II

32.

33.

20

A2, spieniel [@Qasidel Alda- 4

Qnuni g yriaid £9?

(A) Arta o udel Wl &

(B) €35 WBls wanlandi wami s

Al 4 sy ®

(C) Atat 94 A Alas 4l

(D) Atla « ol o e 9

fR2el2adl Ha A 2udauidl g sirel
4?7

(A) Frwsil wutdly (dlivaulds)

(B) «ilas

(C) sidan

(D) 4ug



34. Who among the following said, “One g4

35.

36.

cannot step twice into the same

river.”

(A) Thales

(B) Parmenides
(C) Xenophenes

(D) Heraclitus

God, according to Aristotle is .... .  35.

(A) Personal God

(B) Formal God

(C) Unmoved mover

(D) Moved mover

Which of the following is not true  36.

about Augustine’s conception of

evil ?

(A) Evil is necessary to good

(B) Evil is privation to good

(C) God is kept aloof from all evil

(D) Ewvil is good
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Al s Rietd 589, ‘it vl ¥ Ll

oftap quid et At s wsl.”
(A) adly

(B) wRASSH

(C) IilAu

(D) sulbasy

wRwledAl Hdiquiz 24 ¢

(A) ot 2a 8

(B) uilis 2a & (vlivulis 2a)

(C) (Unmmoved mover) AA¥}<S Haz
(D) (Moved mover) HS Ha3

BRI AL HeAlqu1R wlrel oloidi g

My 47
(A) e ALIR M2 QWS 6
(B) %2 Me3atdl o o

() Saqq qd vilfeesd] 200wl

il 9

D) ule wy &

[P.T.0.]



37.

38.

For Descartes, the criterion of truth

18

(A) Clarity

(B) Distinetness

(C) Clarity and distinctness

(D) Neither clarity nor distinctness

Which of the following is not true

about Plato’s theory of ideas ?

(A) Ideas are things

(B) Ideas are substance

(C) Ideas are universal

(D) Ideas are imperishable
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37.

38.

S5LEUAL HAlGUR, A, @@ &

(A) ¥l

(B) [alarreqn

(C) wedl v [RRreal

(D) 2wl > [AfEredisl Asus R

w@el-l theory of ideas i eo{ni

2l g 2wy Adl?

(A) Q30 (Ideas) d3g &

(B) [Qui2l (Ideas) ueidl &

(C) Rl (Ideas) d-id &

(D) Rzl (Ideas) vl &



39.

(a)

b)

(c)

(d)

Match List I with List II and choose
the correct answer with the help of

codes given below :
List I List II

St. Aquinas  (f) Ideas are

universals
Aristotle (iZ) Four causes

St. Augustine (iif) Five proofs for

existence of

God
Plato (tv) Man is respon-
sible for evil
Codes :

@ & @© @

(A) @y () ) @)

(B) Gy G @ (v)

(C) @) @ @Gv) @

Dy @ @) i) @)
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39.

(a)

®)

(e)

@

(A »ddl 515 (codes) 1 nueeal

AT Al ¥ 1T sidl wiew s

Aol
YA I yA II

W SUGAY @ @Al Ay
Y&, 9 (universals)

Afelea (i) W sl

{12181 (i) $2a3d Wil
lg s2di uin
uHLE

el (fv) x[F% W2 Ha
LAY

£Ss ;

(@ &) @ @

(A) Gv) D G @

(B) @) @) @ ()

(Cy (i) @) Gv) @)

D) @ G @) )
(P.T.0.]




40.

41.

Nietzsche propounded which of the  40.

following idea ?

(A) Will to believe

(B) Will to work

(C) Will to power

(D) Will to relax

Which of the following is not
correct about Moore’s refutation of

idealism ?

(A) It is a critique of Berkeley’s
Esse-Est-Percipii
(B) It is a critique idealism

(C) Tt is an attempt to establish

realism

(D) It is a defense of Kantian

philosophy
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41.

el sul 4o {led-l (Nietzsche) il
8

(A) fag g [adla

(B) Q4 g af

(C) Qe g war

D) e g Rasy

AL Al [Quayi g g e?

(A) L opdelli v 2 LB (esse est

percipi) i eyl &

(B) wlvucdae (idealism) «fl aueia-l

&

(C) M uwmidaie (Mg s34l MYt &

(D) A si+d (Kant) <l Razaizi-

LI



42.

43.

44.

According to Wittgenstein which of

the following is not correct about

facts 7

(A) Atomic facts

(B) Complex facts

(C) Negative facts

(D) World Consists of facts

Which of the following is not a

of

concept Husserlian

phenomenology.

(A) Bracketing

(B) Intentionality

(C) Phenomenological reduction
(D) Foundationalism

The view that the physical objects
are in fact logical constructions

based on the sensory experience is

held by :

(A) Wittgenstein
(B) Russell

(C) Austin

(D) Ryle
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42.

43.

[a2dlR21d1l (Wittgenstein) «ii

Mgz, drdl@sdil Quani g s
| ?

(A) 2Rlas ¢élsd

(B) #l2a wslsd

(8 rustuéﬂla @ 4lsd

(D) Yl wrdlasaig xR ©

il sl ud gdd (Husserl)

F-iAsldionl eir -2 ¢
(A) 9i3[2a (Bracketing)
(B) dwerurf@l2 (Intentionality)

(C) Sl sa [Rssu

(Phenomenological reduction)

(D) $1G-3a~lR1 (Foundationalism)

clllas axgotl elills sigea-i 2R

-

284l dilfs -l §, 20 1 Sicdl B7
(A) [A2dlz151 (Wittgenstein)
(B) 344 (Russell)

(Q) iR (Austin)

D) Use (Ryle)
[P.T.0.]



45.

46.

47.

Who among the following, said that
“The real is rational, and the

rational is real” ?
(A) Kant

(B} Locke

(C) Hegel

(D) Spinoza

Who among the following maintains

that there is no necessary

connection between cause and

effect ?

(A) Locke
(B) Hume
(C) Kant

(D) Descartes

Monads, according to Leibnitz,

are :

{A) Solid

(B) Liguid

(C) Transparent

(D) Windowless
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45.

46.

47.

- =

oy w89,

as

AL suL Rl 5g 9

-

ASHAA 9, A F afdold B, A W

(A) st (Kant)
(B) dis (Locke)
(C) 34 (Hegel)

(D) [y (Spinoza)

sul [Rdsl Hdlqui st v s139 92

vldeYs Aoiy «Hl?
(A) dls (Locke)
(B) & (Hume)
(C) s (Kant)

D) §58% (Descartes)

Ao (Leibnitz) -l Hd HiAISH

(Monads) ied :
(A) uigla |
(B) xails

(C) wireds

D) (dsidxn (Windowless)



48.

49.

50,

/
“Knowledge begins with the senses,
proceeds to the understanding and

of ends in reasons” is the thesis of :
(A) Kant

(B} Locke

(C) Leibnitz

(D) Berkeley

Which of the following according to
Locke does not belong to the group

of complex ideas ?
(A) Modes

(B) Relation

(C) Solidity

(D) Substance

Berkeley’s Esse-Est—Percipz'i holds

(A) Nothing can exist, unperceived
(B) Nothing exists
(C) Only ideas exist

(D) None of the above
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48.

49.

50.

-l u3aa B 45y AU
Y4l el 6 2 e g iy @
2L M sl 37

(A) st (Kant)

(B) dis (Locke)

(C) adoly (Leibnitz)

(D) otsdl (Berkeley)

Al Mg ¥R Rl (sndsy
SIEYI) i qaly] L TR TN
#qg :

(A) HiSd (Modes)

(B) Aoiy

(C) &-at

D) vad

Sl M Wil B YR fesse eyt
3.

percipi) walq &
(A) 2t 5065 wBricq «4of]
(B) sq wa R «1of]
(C) 5 [RRA e B

(D) GUR sudemyi] Hsye Ay
[P.T.Q.]




ROUGH WORK
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